Ciklusi

z =10x1 — 5729 — 93 — 2424
w1, = —051’1 + 551’2 + 251‘3 — 9.Z'4
Wy = —051’1 + 155(]2 + 051’3 — X4

1'3:1—1‘1

ziw; > 0
baza || b | 1 | a9 Tz | x4 | Wy | Wy | w3
-Z O} 10| -57 | -9 [-24] 0 | 0 | O
wy 0]05]|-55]-25] 9 1 010
Wo 0(05|-15(-05] 1 0 1 0
W3 1] 1 0 0 0 0] 0 1
x; < min{%, %, %} =0
T1 <> W1 ili T <> Wa.
Biramo: x; <> w;.
1. iteracija:
baza || b | 1 | 2 | x5 | x4 | w1 | wy | ws
-Z O[O0 | 53|41 |-204|-20] 0 | O
1 O 1 |-11|-5]| 18 2 010
Wo 00 4 2 -8 -1 1 0
w3 110|115 | -18-210 1
T Smin{%,l—ll =0
To <> Wa.
2. iteracija:
baza || b | x1 | x2 | 23 Ta w1 Wa w3
-Z O[O0 | 0| 145 -98 | -6.75|-13.25| O
1 0O 110 0.5 -4 | -0.75 | 2.75 0
T 00 |1 0.5 -2 1 -0.25 | 0.25 0
W3 110701 -05 4 | 075 | 275 | 1
z3 <min{gs, 55} =0
T3 <> I ili T3 <> To.
Biramo: 3 <> 7.
3. iteracija:
baza | b | x1 | o | 23| x4 | w1 | wy | w3
-Z 0[-29] 0|07 18| 15 | -93 | O
T3 0] 2 0| 1] -8|-15]55]0
T Oo(-1 11,0 2 105 (-25] 0
w3 1] 1 010 0 0 0 1

zy <min{J, 5} =0

Ty <> To.

4. iteracija:




baza

bl x1 | xa | 23| T4 | wn Wo :
-Z 0[-20-9 0107 10.5|-7051] 0
T3 0| -2 4 110 0.5 -4.5 | 0
Ty 0(-05(05] 0] 11026 |-1.25] 0
w3 1 1 0O ]01(O0 0 0 1
w; < min{&, %7 %} =0
Wy <> T3 ili W1 <> T4.
Biramo: w; < 3.
5. iteracija:
baza || b | x1 | xa T3 | XTq | w1 | Wy | w3
-Z 0(22]-93|-21|0] 0124 O
(g 0| -4 8 2 Ol 11]-9]0
Ty 0(05]-15]-05] 110 1 0
w3 1] 1 0 0 0] 010 1
wy <min{?,:} =0
Wo <> XTy4.
6. iteracija:
baza || b | 1 | 2 T3 | T4 | Wy | we | ws
-7 O} 10| -57 | -9 [-24] 0 | 0 | O
wy 0105 |-55[-25] 9 1 0] 0
Wy 0[05|-15]-051] 1 0 1 0
w3 1] 1 0 0 0 0] 0 1




Bland-ovo pravilo

5. iteracija:

baza || b | 1 | x9 T3 | Ta | w1 | wy | ws
-7 0f22|-93|-210] 0 1]24|0
wy 0| -4 8 2 O] 1/[-9]0
Ty 0[/05|-15]-05]1 0 1 0
W3 1] 1 0 0 0] 010 1
zy <min{gs, 1} =0
T1 <> 4.
6. iteracija:
baza | b | x1 | T2 | 23| T4 | w1 | we | w3
-Z 00 |27 1|-44] 0 [-20| O
w1 00| -4 |-2] 8 1 ]1-11]0
1 O(1|-3|-1] 2 0 2 0
w3 110 3 112101 -2|1
r3 <min{i} =1
T3 <> Ws.
7. iteracija:
baza || b | x1 | 9 | 23 | T4 | w1 | wy | ws
-Z -1 01]-30] 0 (-42] 0 |-18| -1
w1 210 1] 2 01| 4 1] -5 2
1 111 0 0] 0 0 0 1
T3 170 3 11-2101]-21]1




Leksikografsko pravilo

z = 10x1 — B7x9 — 93 — 2414

wy, = €1 — 0.527 + 5.529 + 2.523 — 914
Wy = €9 — 0.527 + 1.529 + 0.523 — x4
r3=14¢e3—1

Ti,w; > 0,0 <eg <eg <y

baza b 1 | X9 T | x4 | Wy W3
-Z 0 10| -57 | -9 | -24
w1 €1 05 |-55|-25| 9
Wo E9 051]-1.51-0.5 1

w3 I4e3 | 1 0 0 0

o|l—|o|o|g
—lo|lolo

(o) Nen) ol Naw)

r1 < min{gk, 5%, 14“152} = min{2e, 269, 1 + €3} = 29
T1 <> Wo.

1. iteracija:

baza b Ty | Tg | 23| T4 | Wy | We | ws
-7 —20¢e4 O -27] 1 |-44| 0 |-20] O
w1 €1 — &2 0 -4 -2 8 1 -1 0
T1 282 1 -3 -1 2 0 2 0
W3 1+ £3 — 252 0 3 1 -2 0 -2 1
ry < min{FE=22} — 1 4 g5 — 26y
T3 <> Ws3.
2. iteracija:
baza b Ty | Ty | 23| T4 | Wy | Wo | ws
-Z —1 —18e5 — &3 0 |-30| 0 |-42| 0 |-18] -1
w1 2+€1 —582+2€3 0 2 0 4 1 -5 2
1 1+es 1 0 0 0 0 0 1
T3 143 — 2¢e9 0 3 11-2101]-2]1

z=1—30xy — 4214 — 18wy — w3
w1 = 2 — 2x9 — 4x4 + Dwy — 2ws3
Jflzl—wg

T3 =1—3x9 + 224 + 2wy — w3

Ty =Xy = Wy = w3z =0, r1=x3=1,w =2, z=1




